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[1aHO:
a L1 B; c— cekyllas
2 1 = 68°

Hanutu:
HEN3BECTHbIE YI/bl




AaHo: A ABC;

MN o AC;
B € MT;
Z A=58";
Z C=74".
Hautu:
ZB vwm <L
ABC

A C
Oteer: Z B = 180°- (58°+74°)=48°



M B N TeMa
YPOKa

* JaHo: A ABC;

MN I AC:
B € MN

Z A=58"°;
Z C=74".

HauTtu:

ZB

C
LA+ B+ C=58°+74°+ 48°=180°



IlpakTnyeckas paodora

Llenb pa6oTbi: chopMynmnpoBaTh rMnoTe3y 0 CyMME Yr/i0B TPEYrosibHUKa

Z 1 L 2 L3 |\ L1+ L 2+ L
3




Teopema: CyMMa yr/ioB TpeyroJibHnKa paBHa 180°

M B N
JlaHo: A ABC;
4 5 /loKa3aTb:
2 ZA+ZLB+ZLC==180°
/loka3zaTenbCTBO:

[MpoBegém MN o AC; B € MN
MN o AC =>

£ 1=£ 4 (HaKpecT nexalime yribl)
£ 3=£ 5 (HaKpecT nexalme yribl)
Z MBN - pa3BépHyTbln=>
Z MBN =180°
L4+L2+ L 5=180°
Z1+Z£L2+Z 3=180°
nly
A LA+ £ B+Z£ C==180°
Teopema fgoKasaHa.



£ A=65° £ B=57° £ C=?
Z R=24° Z A=130° £ N=?
£ C=? Z K= 81° £ P=73°
£ D=36° £ C=? Z K=90°







110° 45° 42° 70° 130°

6. Hanth yrabl A ABC, ecau
LA+ ZB=100°u L C+ £ B =120°




Bzaumonposepka

1 1 2. 3. 4, 5.

B. A. A. b. I.

6. LA=60°; £ B=40°; £ C=80°

Kputepmnu oueHKM:

«2» - MeHee 4YeTbIpéX 3aJaHUM,

«3» - 4 3aAaHUA, «4» - 5 3apaHnM, «5» - 6 3a0aHUN.




JloMallHee 3agaHue

§ 30,

N2 223 (a, 6);

N2 228 (6, B).




